
1) (516)8

Answer: ____________

2)

A = 51  B
Find the Angle at side B.

Answer: ____________

3) Write 0.07 in standard form.

Answer: ____________

4) 900 ÷ 100

Answer: ____________

5) 26 x 11

Answer: ____________

6) Find perimeter of 
rectangle having 
sides a = 91 cm 
and b = 78 cm

Answer: ____________

7) 68% of 57

Answer: ____________

8) Round 5.6355 to 2 decimal places.

Answer: ____________

9) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

10) Round 30.76 to 1 significant figures.

Answer: ____________

11) Round 9.93 to 1 significant figures.

Answer: ____________

12) 93 - (-52)

Answer: ____________

13) 54.78 ÷ 3.3

Answer: ____________

14) 'What is the probability of rolling a 
multiple of 4.when rolling a dice

Answer: ____________

15) Increase 78 by 4/39

Answer: ____________
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16) A number was shared in the ratio 
4:1. The smaller share was 32. What 
was the larger amount?

Answer: ____________

17) 15/12 x 6/8

Answer: ____________

18) Round 17.75249 to 1 significant 
figures.

Answer: ____________

19) What would you multiply by to 
increase an amount by 13%?

Answer: ____________

20) What would you multiply by to 
increase an amount by 13%?

Answer: ____________

Total: ___ / 20
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Answers:

1) 5128 2) 129 3) 7 x 10-2 4) 9 5) 286 6) 338cm 7) 38.76

8) 5.64 9) 1/3 10) 30 11) 10 12) 145 13) 16.6 14) 1/6

15) 86 16) 128 17) 15/16 18) 20 19) 1.13 20) 1.13
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